Solving Equations Part II Practice
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1a)  2x + 3 = 3x + 2 ; x = 1    
  b)  3x + 2 = x + 8 ; x = 3
  c)  5x + 3 = 2x + 15 ; x = 4  
  d)  4x + 1 = x + 7 ; x = 2
2a)  x = 7	b)  x = -4	c)  x = -6
3a)  x = -7	b)  x = 4	
  c)  x = -1	d)  x = 6

Extra Practice:
4.
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5.  Solve each equation
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[bookmark: _GoBack]4a)  x = 8	b)  x = 2		c)  x = -2	d)  x = -3
5a)  x = 2	b)  x = -13	c)  x = -2	d)  x = -3
  e)  x = 1	f)  x = 15
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€ 2+7x=22%—-3 d) x+12=30-2x
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Solve each equation.
a) x4 12-x+20 b) —6x+15=—x+5
O —12+18x=3x+3 d) —2+3x=4ax+9
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a) 3x— 5=7-3x b) 12+3x=x-14
9 —6x—10=3x+8 d —x=x+6
@ 9—6x=x+2 f)8x—4—3x=11+4x
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1. Write the equation represented by each balance scales.
Solve the equation.
Tell how you did it.
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2. Solve. Explain your steps.
a) 7+x=2x b) 3x+4=2x Q9 6+2x=x
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b) —5+9%
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